
Puzzle 
 

CO2‐Emmissionen eines T‐Shirts 
aus 100% Baumwolle mit einem Gewicht von 220g 

(Systain Studie Carbon Footprint 2009) 

 
 

11 kg CO2 
 

   

 
Entsorgung  2% 
Gebrauchsphase 31% 
Verpackung  2% 
Katalog  14% 
Distribution  8% 
Transporte  3% 
Herstellung  28% 
Baumwollanbau 12% 

12 %  28 % 

8 %  14 % 

31 % 

3 
%
 

11 kg CO2



 

 

Baumwollanbau 
 

Herstellung 
 

Transporte 
 

Distribution 
 

Verpackung 
 

Katalog 
 

Gebrauchsphase 
 

Entsorgung 
 

   



 

 

12 %  28 % 

8 %  14 % 

31 % 

3 
%
 

11 kg CO2


